GENUI

NE PARTS

INSTALLATION INSTRUCTIONS

1. DESCRIPTION: SPLASH GUARDS

2. APPLICATION: 350Z

3. PART NUMBERS:

FRONT REAR
999J2-Zxxxx03 999J2-ZxxxxT4

4. KIT CONTENTS:
Item Qty. Part Name
@ 1 Splash Guard Front (Right)

FRONT @ 1 Splash Guard Front (Left)
® 2 #8 x 19mm Tapping Screws
SET . .
@ 2 #8 Spring Clips
® 2 #10 x 19 mm Tapping Screws
o) 1 Installation Instructions
® 1 Splash Guard Rear (Right)
REAR @ 1 Splash Guard Rear (Left)
SET ® 4 #10 x 19 mm Tapping Screws
6 #10 Spring Clips
©) 2 #10x 13 mm Tapping Screws
1 Installation Instructions
a3 1 Pair Drill Templates
@ ® @ ® ® )

@

5. TOOLS REQUIRED:
10mm Wrench, #2 and #3 Phillips Scre

wdriver, Drill, 2 mm Drill bit, 5 mm Drill Bit, Rag.

6.
A
(B)
(©)

The splash guards are made of plastic

components are tightened securely.

(D) Installation surface must be clean.

INSTALLATION PRECAUTIONS / SPECIAL NOTES:

Be careful not to damage the vehicle and the splash guards during the installation.
. Avoid any heavy impact.
After the installation is complete, make sure ail the screws, nuts, bolts and other

1of4 85298 99942-ZPO0TH REV 1 08/30/02



INSTALLATION INSTRUCTIONS - SPLASH GUARDS

7. |NSTALLAT|ON The procedure below shows the installation for the right side.

1. Front Splash Guards: Repeat the same procedure for the left side

1-1. Removal of the screws from the vehicle

; (1) Wash any dirt and oil off of the installation
.. . .
0 ; T g surface with mild soap and water.
— H N l EXISTING (2) Remove existing plastic push pin, screw
T j R SCRF‘EWS and bolt.
5 ““\( 4., (Reuse) Important
; l }\ ‘! T Turn the tire to the right during the installation of
\,\ " \ PLASTIC the right side splash guard.
NN PUSHPIN (Turn the tire left during left side installation.)
g; (Discard) Retain the removed screws which are to be
EXISTING BOLT reused for the installation of the splash guard.
(Reuse)
1-2. Spring Clip installation
// (1) Pull lower panet and liner out and install
SUPPLIED ; ; ; ;
’. [ i ‘ #8 SPRING supplied #8 spring clip @ over hole in fender.
CLIP Return panel and liner.
l Important

Install spring clip with turned up edge on inside
of panel edge.

LOWER PANEL

1-3. Front splash guard installation

Install front splash guard () with supplied

—
-
~—

S SUPPLIED #8 tapping screw (@ and reinstall existing
#8 TAPPING
SCREW lower bolt.
J—
Important

Hold the splash guard tight to the vehicle while
tightening the screws. Be sure no gap occurs

~ between lower panel and splash guard.
EXISTING BOLT

( Reuse)

SPLASH GUARD

1-4. Front splash guard drilling

(1) Using part as a tempilate, drill a 2mm pilot hole.

2mm
DRILL BIT

SPLASH GUARD

20f4 999J2-ZPOOTII REV 1 09/30/02



INSTALLATION INSTRUCTIONS - SPLASH GUARDS

1-5. Front splash installation

o
N SUPPLIED
e #10 x 19mm
TAPPING
SCREW
SPLASH GUARD e
2. Rear Splash Guards:
2-1. Drilling Holes
MARKED |
o
DRILL
TEMPLATE
5mm
DRILL BIT
TOP
DRILL
/o SUPPLIED #10
/ SPRING CLIPS

BUMPER

(1) Install supplied #10 x 19mm tapping screw @

Do not over tighten.

(1) Wash any dirt and oil off of the installation
surface with mild soap and water.

(2) Mount drill template on bumper edge
making sure that stop is tight against the
end of the bumper.

(3) Clamp or hold template tightly in position
and drill 5mm holes.

(1) Install 2 supplied #10 spring clips (8) over
holes on the rear bumper edge.

Important

Install spring clip with turned up edge on inside
of bumper edge.

Jof4

999J2-ZP00TII REV 1 09/30/02



INSTALLATION INSTRUCTIONS - SPLASH GUARDS

2-3. Rear splash guard installation

/ ! SUPPLIED
#10 x 19mm
TAPPING

SCREW

5mm
DRILL BIT——

1

Q—DRILL

SPLASH GUARD

2-4. Rear splash guard installation

/ SUPPLIED #10
> SPRING CLIP

SUPPLIED
#10x 13 mm
TAPPING
SCREW

SPLASH GUARD

SUPPLIED

BUMPER

#10SPRING
,‘ /CLIP

SUPPLIED
‘ #10 X 13mm

TAPPING

SPLASH GUARD SCREW

(1) Install the rear splash guard (&) with supplied
#10 x 19 mm tapping screw (5 at 2 locations
on bumper edge.

(2) While holding spiash guard tight to vehicle, drill 5 mm
hole through mounting tab and bumper.

Important

Hold the splash guard tight to the vehicle while
tightening the screws. Be sure no gap occurs
between bumper and splash guard.

(1) Install the remaining # 10 spring clip @ and
# 10 x 13mm tapping screw @

Important

Hold the splash guard tight to the vehicle while
tightening the screws. Be sure no gap occurs
between bumper and splash guard.

Important

Install spring clip with turned up edge on inside
of bumper edge.

40f4

999J2-ZP00TII REV 1 09/30/02



